Advanced Result: Unit 9 Test

1 Match crimes a-j with newspaper extracts 1-10.

a arson ... 1 ... managed to break in to the property by forcing an upstairs window ...
b murder  ......... 2 ... experts verified that the painting was not genuine ...
¢ fraud ... 3 ... thousands of pounds of damage were caused in the recent factory fire ...
d burglary  ......... 4 ... the politician was hit in the face by an angry protester ...
e assault ... 5 ... was stolen from the back seat of his car which ...
f forgery  ......... 6 ... he had literally stolen the identity of the other man in order to gain access to
g theft ... his finances ...
h blackmail ......... 7 ... armed with shotguns forced their way into the bank ...
i robbery  ......... 8 ... threatened to send the photos to the national press if she did not pay ...
j mugging  ......... 9 ... was walking home when a man wielding a knife forced him to hand over ....
10 ... police are treating the death of the eminent scientist as suspicious ...
(10 marks)

2 Put events a-g in order from what happened to the criminal first (1) to what happened last (7).

He appealed against the sentence. .........
He was taken into custody. .........
He was released on parole. ...
He was charged with an offence. .........
He committed a crime. ...
He was sentenced to prison. .........
He was arrested by the police.  .........

(14 marks)
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3 circle the phrase (a or b) which correctly completes each sentence 1-5.

1 If you hold out .......... , I'll give you something nice!
a your hand b your eyes
2 We are interested in checking out .......... .
a the papers to the students b the facilities at the gym
3 Itwassucha.......... that she still hasn’t got over it.
a nasty shock b good job
4 Ican’t work out .......... .
a how much those groceries cost b for such an unpleasant boss
5 The children didn’t set out .......... for school today and got in trouble.
a their homework b early enough
(S marks)
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4 Replace phrases 1-8 in the judge’s speech with the phrase with the most
similar meaning from a-h.
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‘John Blagger, you are (1) accused of assault and causing wilful damage to
property. The (2) effect of your behaviour towards your victims has in some
cases been very serious, and many of them have found it difficult to

(3) recover from their ordeal. You are also (4) at fault for the damage caused,
although it has been difficult to (5) calculate the exact cost of this. (6) In
conclusion, therefore, I sentence you to 50 hours of community service.

You may not (7) ask the court to change its decision as regards this sentence.
(8) Taking everything into consideration, I think this is the best solution

for everybody.’

to blame
appeal against
to sum up
charged with
on balance
result of

get over

work out

(16 marks)

5 Decide which preposition can be used to complete each of the three sentences in a-e.

a Icant work ............... the answer to this mathematical problem.
My favourite singer has just brought ............... a new album.
Could you put ............... the lights, please?

b There is a lot of scope ............... improvement in the health service.
William was given over a million pounds as compensation ............... the
injuries he received in the accident.

Jenkins was arrested ............... assault.
¢ 1 wonder what your view ............... the situation is?
Both men were eventually found guilty ............... fraud.
The best way ............... observing wildlife is to stay very still and wear
camouflage.

d Just pull ............... here, Miss Gibbs. I'm sorry but you have failed your

driving test.
Mel found it difficult to get ............... losing her job.
Would you mind if we went ............... the proposals one more time?

e Grimes and Clarke set ............... on their expedition to the pole.

After holding ............... for several days without food, the escaped prisoner
gave himself up.
You don’t need to take notes. I'll hand ............... summaries of my lecture
at the end.
(S marks)
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